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I} General Awareness

The world's smallest country is
(A} Canada

(B} Russia

(C} Maldives

(D) WVatican City

Which is considered as the biggest
Portof india 7

(AY  Kolkata
(B) Cochin
(C) Chennal
(0} Mumbai

Golf player Vijay Singh belongs o
which country 7

(A) USA

(B} Fiji

{C) India

D) UK

Punjab is famous for
(A) Nylon textile
(B) Silk textie

(C) Woollen textiie
(D) Cotton textile

Guru Gobind Singh was
(A) the 10" Guru of the Sikhs

{B) founder of Khalsa, the inner

council of the Sikhs in 1689
(C) authorof Dasam Granth
(D) all the above

B.

10,

The metal whose salts are sensitive
to light is

(A) Zing

(B) Silver

(C) Coppear

(D)  Aluminium

Gir Natlonal Park is situated in
{A) Bihar

(B) Aliahabad

(C) Woaest Bengal

(D) Gujarat

Fathometer is used to measure
(A) Earthguake

(B} Rainfall

(C} Ocean depth

(D) Sound intensity

India's tallest stone statua of the Jain
sage Gomateswara is af

(A} Mysore, Karmataka

(B) Bangalore, Kamataka

(C) Sravanabelagola, Kamataka
(D} Mandu, Madhya Pradesh

India’s Integrated Missiles
Development Programme was stared
in under the Chairmanship
of Dr. A.P.J. Abdul Kalam.

(A) 1979-80

{B) 1580-81

(C) 1981-82

(D) 1982-83
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14,
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India played its first cricket Test Match in
(A) 1g22
(B) 1932
(C) 1942
(D} 1852

Milkha Singh staod —  in"1980
Olympics, in Athletics.

(A} fourth in 400 m final

(B) second in 400 m final

(C) eighth in 50 km walk

(D} saventh in 800 m final

Nurrbernfmmmar‘rﬁs of Air Force are
(A) 5
(B) &
(C) 7
(D) &

The Battle of Plassey was fought in
(A) 1757
(B) 1782
(C) 1748
(DY 1764

Wadia Institute of Himalayan Geology
is located at

(A) Delhi

(B} Shimla
(C} Dehradun
(D) Kuly

16.

17

18,
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20.
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The Rath Yatra at pyri is celebrated
in henour of which Hindu deity 2

(A)  Jagannath

(B) Shiva

(C} Rama

(D) Vishnu

Who wrote the famous baok — ‘We
the people’ 7

(A) TN, Kaul

(B) J.R.D.Tata

(C) Khushwant Singh

(D) Nani Palkhivala

‘Mrichehakatika' was written by
(A) Vikramaditya

(B} Shudraka

(C) Kalhana

(D) Banabhatta

Who is the author of the book
‘My Experiments with Truth' 2
(A} Mahatma Ganghi

(B) Michael Anderson

(C}  Winston Churehiil

(D) Jarnes Marris

Which of the following forest type
cover the maximum area on Indian
land 7

(A} Tropical forest

(B) Tropical Deciduous foresi
(C)  Mountain forest

(D)  Mangrove forest
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(A) 1922

(B) 1832

(C] 1942

(D) 1952

1960 % 377 & Aeme 1 T
e _ wmrme

(A) 400 Ht. F wger o =

(B) 400 . % wge # gm

(C) 50 . M. == 4 s

(D) BOOHL. & FEdw & |Ardd
9 9 & FHre] £ den d

{A) 5 (B) B
(C) 7 (D) 8
AR =l FET 8 Wi e
(A) 1757 (B) 1782
(C) 1748 (D) 1764
et i s den i fEm 2
(A) FEwe

(B) i

(C) U

D) Fg
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(B) IomEiza) waad sy

(C) wadl 3wy

(D} TN ATy
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J[: i) General Intelligence and Reasoning Ability
1
_1|I f 21.  Look atthis series: 2, 1. (122),(1/4), ... Direction 25— 26 : Fach problem consists
I What number should come next ? of three slatements. Based on the first two
(A (1/3) statements, the third staterment may be true,
(B) (118) false or uncertain,
(C) (2/8)
(D) (1/18) 25. Al the trees in the Park are flowering
trees,

22 Look at this series: 22, 21,23 22, 24,

Some of the trees in the park are
23. ... What number should come

next 7 dogwoods,
(&) 22 All dogwoads In fhe park are flowering
(8) 24 trees,
C) 25 Ifthe first two statemanite are trus, the
\D} 26 third statement is
Direction 23 — 24 : Each question has a (A) True
word followed by four answer chojces. You (B} False
will choose the word that is a necessany part (C) Uneenain
of tha underlinad word. {D} Certain
23. HARVEST 26, Mara runs faster than Gail,
::: ::::: Tif Lity runs faster than Hara.
pife
(C) Tractor Gall runs faster than Liky.
(D) Crop If the first two statements are true, the
24 DESERT third statement is
(A) Cactus (A) True
(B) Arld (B} False
(C) Oasis (C] Uncertain
(D) Flat . (D)  Certain

Aw
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21. F@E 2,1, (1/2), (1/4), ... A 307&
Er e B
(A (1/3)
(B) (1/8)
(C) (28)
(D) (1/18)

20, 'WER 22, 21,23, 22, 24,23, ...

=TTt dE e 7
(A) 22 (B) 24
{C) 25 (D) 26

frEw (w6, 23 - 24) : vels W W O
T TTes & ait 30k 978 9N el I
) o2 B | Taaiieen e = AT W ATET

e g |

23, T
(A) T,
(B) TeEW

(C) &k
(D) YEER

24, [T

(A) FFH
(B) H=
(C) w&IH
(D) HmeEE
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(A) &
B H
[c) @A
(D) FfrEn
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:g 27. 8Cph, TEF, UGH, . WKL, 31, Which word does NOT belong with
oy (A) CMN the others 2
' (B) Uyl (A) Tyre
(C) vid (B) Steering whea
(D) Wt (©) Engine )
28. B,CD, +BCD,. B,CD, B¢, D) Car
A e o
" 8,0 32, Which word doas HDT:hﬂhng with
B
B HCsD the others 7
C C.D
@ B, (A) Tulip
(D) Bcp,
(B} Rose
Direction 29 _ 3 . Use the sentence g (C) Bud
find out which of he answer choices (D) Daisy
completes the same relationship with the
third worg, 33. Hersaresoma wun:lstransmﬁdfmﬂ
an artificial language.
28, Window is to Pane as book is 1q
(A) Novel gorbifiur means fan bei
(B) (Glass PixXngort means ceiling fan
(C) Cowver arthius! means tite roof
(1" (D) Page :
i ' Which word coulg mean “eeiling tile" 7
| 0. Cupis to coffeg as bowl is 1o’ (A) Gorbltus
| (A) Dish (B) Flurgorbl
(B) Soup (C)  Arthfiur
C) Spoon
. Sno (D) Pixnarth
(D) Foad

Aw




27. SCD, TEF, UGH, WKL
(A) CMN
(8) Ul
(C) VI
D) T

28. B,CD,
(A) BLC,D
(B) BC,D
(C) BsCaD
(D) BCD;

.BCD,, B,CD, BC.D.

FEw (9., 20— 30) + T T ST Fh
ey s T A Feedt e AR 9 A
o e W A

o9 RmwmfasfiE AR g AR E em
F1Hay R
(A) =]
(B) =9
(C) SNHU=T4
(0} =

ap. Fira e 6 & 9 2 341 008 TR
HaH T
(A) e
(C) ==

(B)
(D} SmER
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. AR s s

(A) EHEL
gy EEim e
() A

(B} =R

- iabm T AR Y

(A) gl

T T T 2 e e ST

e R
gorbifiur =1 Aot ® fan belt
pixngorbl 1 e 8 ceiling fan
arthius! =1 Tae # tile roof
speiling tie” 3 Ter, a1 7= 2 7
[a) Gorbltus!
(B) Flurgorbl
(C)  Artnflur

(D) Pixnarth
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Here are somea words transiated from
an artificial language.

agnoscrenia means polsonous
spider
delanocrenia means poisonous
Snake

agnosdeery means brown spider

Which word could mean *black widow
spider” 7

(A
(B)
€
(D]

Deeryclostagnos
Agnosdelano
Agnosvitriblunin

Trymuttiagnos

‘Fan’ is for "Alr' in the same way
'tubse light' is for

(A). Light

(B) Heat

(Z) Cool

(D) Fire

'Carpenter' is for ‘Wood' in the same
way 'Butcher’ is for

() Animals

(B) Plastic

(C) Siesl

(D) Gold

2=

37,

{C)
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‘Mango' is for 'Market' in the same
way '‘Book' s for

(A)
(B)
(C)
(D)

Book store
Magazine

Newspaper
Writar

‘Driver is for 'Bus’ in the same way
Pilot' is for

(A)
(B)

Boat
Asgroplane
Train

(D) car

Current is for ‘Ampere’ whereas
Energy is for

(&) Volts

(B) Watt

(C) Joule

(D) Newton

‘Lion' Is for 'Pride’ ‘whereas’ ‘"Monkey'
is for
(A}
(B)
(C)
(D)

Labor
Leap
Team

Troop

.
r




aA, T AT T o et e E e 56
e 2

agnoscrenia =1 HocH 7 poisoncus
spider

delanocrenia 1 BAEHE % polsonous
snake

agnasdeery T HaTE & brown spider
“plack widow spicker ™ = T 1 e E 1
(A) Deeryclostagnos

{B) Agnosdelano
{C) aﬁﬁnummﬂalunin

(D) Trymuttiagnos

95, o weEn Tl & o0 S @ I A
o e e
(A) TR
(B) =
(C) B8
(D) =M

36, o wEW wd & fom wEd # 3
e e R
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(A) T R
(B) iR

(D) ==
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iii} Arithmetical ang Numerical Ability &

Crossesa pole in g Seconds. Wha i
the length of the train 7

{A) 120 metres
(B) 180 metreg
(C) 324 metres
D) 150 Meatreg

A can do a waork M 15 days and 3 in
20 days, If they work on jt together for
4 days, then he fraction nf the work
that is left ig
(A) 1/4
(C) 7n1s

(B) 1/10
(D) 815

If he sells the sconter for Rs. Eﬂﬂiﬂ{

his gain percant is
4 5

(A) 4—?-% (B) Eﬁ%
(C) 109 (D) 12%

Fathar s dged three times more than
his son Ranit. After 8 years he would
Be two and a haft times of Ronit's age.

would he bg of Finnit's age 7
(A) 2 timeg
1
7 5
(B) 5 times

3
(C) EE times

(D) 3 limes

45.

485

47.

48.

a0.

In the first 10 QVers of a cricket Fame,

e run rate wgs only 3.2 What shaylg
be the run fate in the réemaining

run‘sT L
(A) &.2s (B) 85
(C) 675 D) 7

4 Committee s that at least 3 men are
there on the committes. In how many
Ways can it ba dong

(A) 564 (B) &4s

(C) 735 (D) 758

Find the Srealest numbar fha will
divide 43, 91 angd 183 S0 85 1o lsave
the samea remainder in e3ch case.

(A) 4 By 7
(C) 8 D) 13
The cube foot of 000216 ig

(A) .6 (B) .06
(C) 77 (D) 87

The banker's discount on g Bill die
4 months hence 51 15% is Rs. 420
The true discount iz

(A} Rs. app (BY Rs. 380
(C) Rs. 480 () RAs, 320
A parson crossesa 600 m long street
in5 minutes. What is his spead in km
per hour 7

(A} 36 (B8 7.2

() 84 (D) 10
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N i o 5 o o3 140 it 0 1
2R SR S e £ e 7
(A) 120 Hie (B) 180 et (A) B.25 (B) 65
(C) 324 di@ (D) 150 T (C) 675 (). 7
- : 46, 7 UE ST 6 WiEel % Ag
Aﬂ;ﬁ'ﬁﬂmhﬁ‘ﬁtﬁ’ﬂﬁwzﬂ e St el ) W S 2 R
ot e 2 | afd 3 AW e = oy 8 o B R | T R
T A E A S G FW G A U H T S HEA S
(A) 14 (B) 110 (A) 564 (8“0
: (C) 735 (D) 756
{C) T7H5 (D} 815
47, et welies ad e e BEE a3
e U WA S5 4,700 5. § @i #0188 =1 9 S § W AW T A4
2| 36 T 9% 800 ®. WOWd & fol0 W T I T .
, (A) 4 By 7
mtmﬁaﬁ@aﬁsmnﬁﬁ%ﬂm s o
&, 1 e e wfrm E E
4 " 48. 000216 %1 Tge
(Al A=Te (B) By % (&) 6 (B) .06
c) 77 (D) B7
(C) 10% (B) 12% .
! 49, 4 WEH = 35 e W 15% = E I
it & el sud o & @ i F1AE1420 %, & | e 951 2
T | 8 WIS % =S & A0 ) 30 H (A) 400 %, (B) 360 %.
= T | 3R g Wi AT IR I (C) 4B0%. (D) 320 %.
Trfter o 3 & PRl e e 2 50. U EH] 600 Hie w5
1 75 Tl & | Ieeh uid g B e T
(A) 27 (B) 25 % af g ?
5 (A) 3.8 (B) 7.2
(<) EET‘H (D} 3TN (C) B84 (D) 10
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A sum of money at simple interest
amourds to Rs. 815 in 3 years and to
Fs. 854 in 4 years, The sum is

(A} Hs. 650 (B) Rs, 8280
(C} Rs 698 (D) HAs. 700

Aand B invest in a business in the
ratio 3 : 2. If 5% of the total profit goes
to charity and A's share is Rs. 855,
the total profitis
(A) Rs. 1,425
{C) Rs.1,537.50

(B) Hs. 1,500
(D) Rs. 1,576

The ratio between tha langth and the
breadth of a rectangular park is 3 ; 2.
If a man cycling along the boundary
of the park at the speed of 12 km/hr
completes one round In 8 minutes,
then the area of the park (insg. m.) is
(A)  15:360 (BY 1,53.600
(C) =30, 720 (D) 3.07.200

Which one of the following is not a
ptime number 7

(A} 31 (B) 81

&y 7 (D) 99

Three pipes A, B and C can fill & tank
from empty to full in 30 minutes,
2 minutes, and 10 minutes
respectivaly. When the tank is smpty,
all the three pipes are opened 7 A, B
and C discharge chemical solutions
P.Qrand R respectively. What is tha
proportien of the solution R In the
liquid in the tank after 3 minutes ?
(A) 511 (B) &/11

(Cy 711 (D) 811

18-

59.

60.
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{". L]
Tickets numbered 1 to 20 are mixed —
up and then a ticket is drawn at
random. What is the probability that
the ticket drawn has a number which
Is & multiple of 3or 5 7
(A} 1/2
{C) B/15

(B) 25
(D) 9/20

Two ships are sailing in the sea on
tha two sides of a lighthouse. The
angle of elevation of the top of the
lighthouse is observed from the ships
ars 30" and 45" respectively. If the
lighthouse is 100 m high, the distance
between the two ships is

(&) 173 m (B) 200m
(€C) 273 m (D) 300m

A bank offers 5% compound interest
calculated on half-yearly basis.
A cuslomer deposits Rs. 1,600 each
on 1% January and 1! July of a vear.
Af the end of the year, the amount he
would have gained by way of interest is
(A} Rs. 120 (B) Rs. 121

{C) Rs. 122 (D) Rs. 123

A batsman scored 110 runs which
included 3 boundaries and B sixes.
What percent of his total score did he
make Dy running between the wickels ?

(A) 45% (B) 451—51%
o/ L
(6 Bhaie (D) 55%

If ene-third of one-fourth of a number
I5 15, then three-tenth of that numberis
(A) 35 (B) 36
(C)y 45 (D) 54
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52.

T T W 3 FTE S = 815 F,
St 3fR 4 BT 1 854 5, | AR UM
(A) B50%. (B) 690 %
(C) B8 7. (D) 700%.

A 2t B UF SR F 8 ;2 S
Erim = 2 | A7E Fel T o 5% A
Fon s 2 afw A = fsn 855 3. F
2 it et T B
(A) 1,425 %

(C) 1,537.50%.

(BY 1,500 %
(D) 1576%.

uﬁmmﬁﬁaﬁtﬂmﬁm?ﬁ-ﬂ%
1 FFAE S 28 | T = 1ofe.A./
s T & R o e R
& g firre © ug = T FE1E | I
=it o) dreer (a9 i H) B
(A) 15.360 (B)

(C) 30,720 (D)

ﬁmﬁﬁ#ﬁmﬂmﬁﬁwqﬂ%?
(A) 31 (8) 61
(Cy ™ (D} 91

1,563,600
3,07.200

A B 3t G i e 0 226
ag fie, 20 fire o 10 ez A
s ¥ | v e et A & A A A
FEEIFER |ABHTCHEAILP.Q
Pty R T R A € | 3T
w1z 70 & 79 B R UEEA BEO #

AATA FNE
(A) 511 (B &11
(G} T (D) 811

56,
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1 @ o0 Er aTE Tk = T e R
e st w3 o T e
5 | i et siena & fo e T
fopg w0 7 3 41 5 R I B
(&) 12 (B) 25
(C) 8/15 (D) 920

e Ay % S w0 S 6A
F pn e B | SR W A AN
Foreg =) ST T FEITET: 307 3T 45°
2 1 5% dEy £ %=n 100 E, A
L s e
(A) 173,

(C) 273,

(B) 2007,
(D) 3007,

Tz S e AT T T 5% WA
TS = e AT ¢ | U O
1.600 . 1ﬁﬁﬁn1—3ﬁﬁﬁaﬂ

(A) 120%.
(C) 122%.

(B)
(D)

121.9.
123 9.

o e 110 T w) ¢ e 3 AR
< g s TR | B e A B

e g 35 e T T A
(A) 45% (B) %%%
B

(€) 5457 (D) 55%
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(A) 35 (By 36

(C) 45 (D) 54
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J

et w3 wem e el
61. 39 A el o s B 7
(A} HaaTey (B)  =TetEnay
(C) ¥ Heg (D) ==mmEg
62. ‘s wynfqard
(A) FH (B) zazm
(C) ke (D) wfaeh
63. ‘s w1 faem ymmamd
(A) T (B) HHH
(C) 3T (D) #Hew
64 ‘TreTmEas’
(A) HaETE (B) A
(C) #FdR (D) mEER
65. ST IEAIEL IR
(A) T (B) wmH
(C) TwEE (D) ey
66. I[E T FTEU i |
(A) & e = A o
(B} 4 arwm A
(C) #aewmaiFmy |
(D) 37z w1 4 fbn g
67. ST
(A) =HEH =R
(B) " TR
(Cy
(D) HegE Al
68, ‘G + dur i ufy =eh
(A) SRR (B =i
(C) = (D) =
Az
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iv) Test of Language : Hindi

aTaT witen : feh
FEm 69— 70 : 5 F v & geE 5 |

69,

7.

74,

15

'Eﬁ+3ﬂf:'ﬂ'ﬂ'i¥f

(A) iy (B) &y

€) Fheaf (D) =maty
'ﬂﬂ'+tﬁ€l='ﬂ'ﬂ'ﬂﬂ

(A) sty (B) Wwy
) gramm () =mEty

Tun 2 smayt mmmE
(A) T (B) e

(C) == (D) SguH

ittt srfin R 8 I

awm d (A s Sz e

(A) &, =R, =0 A
(B) %, fifgm, 991, %, 8, 2
(C) F%MHHHEIEIEI‘Q
(D) a7 ], =, 8,8

A a & T arEf e F

Mﬂa‘mi Jmﬁm%-
A ___ ¥ = X AIIHA ¥ U 319 &

e 3ImemE |

(A) T, (B) HTe, H1

(C) wdl, = (D) =, &

tﬁmaﬁ{ﬂﬁgﬁ HWE | WAy
HE 8 7

(A) TEEw (B) 9E=H
(C) =W (D) HEwEE
TeaE B E-a e R

(A) = (B) =iz
(€} T (D) wegEn
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ey e et o 3w o T g et
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ST S S S o e
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Fn | dn s F T R4 950 S
FererTaTe =TT e A1 = ) 2
i Teety STl T o TR w6 A ST
fam |

veife e Wi & w4 | 3 e A,
m&qﬂ,qﬁz‘m’wnﬁmﬂéﬁﬁﬂwﬁﬁ.
ST, A 0 iR e A wdmE |
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ﬁ,m&ﬁmaﬁﬁﬁéﬁﬁmﬁﬁam
R 3T AR e ) AR e 1
EECIN
26, faga xl ) v & A A
TR E R :
(A) g O HiEHa A a
(B) = i 1 T0 #E
(C) rr%ﬂglafﬁmﬁﬁaﬁﬂmﬁﬁ@
=1

(D) Tl ¥ AR

L i

FANAE ]

(A) v T AT o HEE G
(B) AT AT e 3w

(C) s e, siaeren 3 e e

1
(D) ¥TrEfta HEHT, Hiiw A FA
28 el 3o ) A T A
el = Tl 7
(A} e G E TEF o H

(B) e =T % e A 9 AT B
() nmaga%aﬁmmmﬁa 4 HEFd

T
(D) Horg e = AT zhEm

20, T iR 3 e w I
FoEma Y
(A) el 36 STERAT e EAa H
(B) ot i o e e feg
(C) Sy # ey R AR & w0
o S = & e = e b

80 e AT, S H HAT T
e @ v TR
(&) T & &
(B) W, FE A
(C} e E T
(D) vhEaE
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81

Read the each sentence to find out

whether there is any grammatical

errar in the sentence.

(&Y We discussed aboul the problem
50 thoraughly

(8] on the eve of the examination

(C) that | found it vary easy towork it out.

(D) Naoerror

JDD-19/PGT-COMM/X-14

v) Test of Language : English '
W71 SIS0 ¢ ST

Direction for 85 : In this guestion, an

ingcomplete siatement (Stem) followed by

filers is given, Pick out the best one which

can complete incomplete stem correctiy and

mearingiully.

85, Despite his bast afforts to conceal his
anger......

(A} we could detect that he was very
happy

B2. Fate smiles _ those who untiringly
grapple with stark realities of life.
(A} With (B) Owver
{C) On (D) Round

Direction 83 = B4: In each question below,
there Is-a sentence of which some pans
have been jumbled up. Rearrange these
parts which are labelled P, Q, R and 5 o
praduce the correct sentence. Choose the

(B} he failed to give us an impression
of his agony

(C} hesucceeded in camoufiaging his
amolions

(D} people came to know that he was
annoyed

Directions for 86 — BB: Today most
businessmen are very worried, To begin
with, they aré not used to competition. In
the past they sold whatever ... (BB). .
produced at whatever prices they chose.

proper seguence.
83. When he
P: did not know

24,

Q: he was nervous and

R: heard he hue and cry at midnight
S:what to do

The Proper sequence should be :
{4y ROQPS By QSPR
(Cy SGPR (D) PQRS

It has been established that

P Einstein was

Q: although a great sclentist

A: weaak [n arithmelic

S: right from his school days

Thi Proper sequence should be:
(A) SRPQ (B) QPRS
(C) QPSR (D) ACPS

But "'m?i:;é' increasing competition,
customers began to ...(88)... and choose,

Fill in the blanks

BG. (A) it (B) they
(C) he (D) we
B7. {A) with (B) by
(C) after (D} from
88. (A} buy (8) take
(C) pick (D) want

89. To make clean breast of
(A} To gain prominance
(BY To praise oneself
(C) Te confess without of reserve
(D) To destroy belore it blooms

90. GRAIN: SALT
(A) shard : pottery
(B) shred: wood
{C) blades : grass
(D) chip: glass




Direction for 91:(n the following guestion
choose the word which hast expressas the
meaning of the given word.
1. CORPULENT

(&) Lean (B) Gaurit

(C) Emaciated (D) Obese
gp  Find the correctly spelt word.

(A) Efficient

(B) Traatmeant

(Cy Beterment

(D) Employd
Direction for 93 : Which of phrases given
below sach senience should replace the
phrase printed in bold type to make the
grammatically gorract 7

g3, ‘l’mmdnntnmlamhﬁwumw.

(A) You don't need to come unless

you want 1o

(B) Youcoms only when you want 10
(C) Youcome unless you dor't want 1o
(D) You needn't come until you don't

want 1o

Direction 94 —95: | felt the wall of the tunnel
shiver, The master alarm squealed through
my earphones. Almast simultansousty, Jack
yelied down o me that there was a warming
light an. Fle&lingﬂhut spectacular sights

into ut of view, the snow. the
hower of debris, the maon, lopming close
and big, the d‘ﬂIIIir;g sunshine for once
Unfiltered by layers of air. The last twelve
nours before re-eniry were particular
biane-chilling. During this period, | had to go
up in to command maodule. Even after the
figry re-entry spiashing down in B1° wataf in
couUth paciic, we could still see our frosty
preath inside the command ule.

g4, The word command Module used
wwice in the given passage indicates
rhaps that it daeals with
(A) an glarmming joumey
(B) acommanding situation
(C) aloumney into outer space
(D) & frightful battle

JDD-1 o/PGT-COMMX-14

g5. Which ong of the following reasons

would one consider as mofe S poSss

for the waming lights to be on?

(Ay Therewas a shower of debns.

(B) Jack was yeliing.

(C) A aatastrophe was imminent.

{0y The moon was looming close and
ma.

Change the voice ; | remember my

sister taking me fo the mussuln. J

(A) | remember | was taken o the
museum by my sisler.

B8 | remember being taken to the

misseum by my sister.

| remember myself being taken 10

the museum by my sister.

(B} | remembear iaken to the museunm

(&)

by my sistar.

Direction 87 - q8 : In the following
guestions Choose thi word which is the exacl
OPPOSITE of the given words.
g7. ARTIFICIAL

(A) Red (B) Natural

(G} Trutniul (D) Solid
gg. EXODUS

(A) Influx

(B) Home-coming

{C) Retum

(D) Restoration
Direction 99 — 100 I qm@mﬁgwanbehuw
out of four altematives, choose the one wiich
can be substituted for the given word/
sentence.

gn, Exireme old age when & man
pehaves like a fool

(A) Imbecility
(B) Senility
(C) Dotage

(D} guperannuation

100, Thatwhich cannot be carrected
(A) Unintelligible (8) Indelible
Gy llegible (D) Incomginie

21
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Direction for 91: In the following question
choose the word which best expresses the
meaaning of the given word.

91, CORPULENT
(A) Lean (B} Gaunt
(C) Emaciated (0 Obese

92. Find the correctly spelt word,
(A} Efficient
(B) Treatmeant
{C) Belerment
(D) Employd

Direction for 93 : Which of Ejhr&ses. given
below each sentence should replace the
phrase printed in bold type to make the
grammatically correct 7
53. You need not come unless youwant to.
(A} You don't need to come unless
you want to
(B) Youcome anly when you want 1o
(C) Youcome unless you don'twant to
(D) You needn’t come until you don’t
want to

Direction 94 —95 : | felt the wall of the tunnel
shiver. The maﬁﬁﬂ&r alarm mﬂwnﬂmriuﬂ
earphones. Almast simiilia .Jac
yn;{hed down lo me that there was a waming
light on. Fleeting bul spectacular sights
snapped into ans out of view, the snow, the
shower of debris, the moon, looming close
and big. the dazzling sunshine for once
unfilterad by layers of air. The last twelve
hours before re-entry were particular
bone-chilling. During this period, | had to go
up in o command module. Even afier the
fiery re-entry splashing down in 81° waler in
south pacific, we could still see our frosty
breath inside the command module.

84. The word ‘Command Module' used
twice in the given passage indicates
perhaps that it deals with
{A) an alarming journey
(B} acommanding situation
(C) ajoumey into outer space
(D} a frighiful battle

JDD-19/PGT-COMM/X-14

95. Which one of the following reasons
would one consider as more as poassible
for the waming lights to be on 7
(A} There was a shower ol debrls,
(B) Jack was yelling.
({C] A catastrophe was imminent.
(D) The moon was looming close and

Dig. .

96. Change the voice : | remamber my

sister taking me o the musgum

(A] | remember | was taken to the
museum by my sister.

(B} | remember being taken to the
rmuseum by my sister.

{C) | remember myself being taken o
the museum by my sister.

{3 | remember taken io the mussum

by my sister.

Direction 97 — 98 : In the fallowing
guestions choose the word which ks the exact
OPPOSITE of the given words,

97. ARTIFICIAL
(A) Red
{CYy Truthiul

g98. EXODUS
(A)  Influx
(B} Home-coming
(C) Return
(D)} Resioration

Direction 29 — 100 : In questions given below
aut of four altematives, choose the one witich
can be substituted for the given word/
sentence,

89, Extreme old age when a man
behaves like a fool
(A} Imbecility
(B) ‘Senility
(C) Dotage
(D) Superannuation

(B} Natural
(D) Solid

100. That which cannot be comected
(A} Unintelligible (B) Indelible
(G} legible (D}  Incorgitle

Ax -21-




1,

102.

103

Bk

SECTION - B

JOD-19/PGT-COMM/X-14

Post Specific Subject-Related Questions

If opening stock is T 10,000, net
purchase ¥ 70,000, wages % 2,500,
carrage inward T 500 and closing
stock ¥ 15.000. What s the

manufacturing cost 7
(A) TB5000
(B) ¥83,000
(C) ¥ 68,000
{B) T73.000

Which one of the following will not
affect the working capitai 7

(A
|8

Realization of cash from debtors
Sale of plant and machinery in
cash

()
18

|ssue of equity shares

Hedemption of debeantures

In India, which of the following is
prepared on the guidefines of AS-3
(Accounting Standard-3) ?

(A} Balance Sheet of a Company
(B)
{C) Cash Flow Statermen

Funds Flow Statement

(D} Consolidated Financial Statement

104

108,

106,

rmﬂyampamh'arrsina[mﬂmaﬂng
profits in the ratio of 2 : 1, zis admitted
with & 1/3 prafit sharing. Whatwill be the
new-pmﬁishaﬁngrmrnnfx,;andz?
(A) 3:3:.3
(B) 4:83:2
(G) 4:2:3
(D) 2:3:4

Which element of the promotion mix
do wholesalers generally apply to
obtain their promotional objective ?

(A} Advertising

{B] Personal selling
(€] Trade promotion
(D) Direct marketing

Who has given Fourteen Principles

of Management ?
(A)
(B)
()
(B}

Henry Fayol
F. W. Taylor

Flamming

3




1.

102,

103.

Ax

q -4
Uz mfafes Fea—wEddt uva

ofe s @29 710,000, 72 &ie

% 70,000, %951 T 2,500, 3= Ted
7 500 2117 w19 w2 T 15,0003, @1

FeqTEA T T

(A) 765,000

(B) T83,000

(C) %88,000

(D) ¥ 73,000

Fore 3 & e s = TR T
=im §

(A) EEEIH e wE

(B) T WEIAL ) Ao 1 A
(C) FEEIE 9 = =T

(D) T = fwTas

A B AS-3 (FE HH-3) % Femme
& s Fre i & Rl A 2 7
(a) ol =1 Ao vtz

(B) HEH T o

(C) & wl fgm

(D) wmiiE fawf e

104,

b

106,

B
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x 3Ry v N AEEE E a2
S 3 AT A H Sl 2
1/3 gerwt fed o R v o 38 i
=R | xy Bﬂtzﬁi_ﬂ‘l‘-ﬂﬁ"lé?m
et = A S w7

(A}
(B)
()
1B}

3:3:3
4:3:2
4:2:3
2:3:4

TR 1 B TR T F T A
ST AT AR e A e e
s s sRm A E

(A) FETH

By FrefifEwa

(C) =ATIR, Feema

(D) i B

TEEA % HIeE e e e e
(A) =i

(B) AR

(C) uE, meeg B

(D)
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| 107, Whatis M.B.O. ? 111, Which one of the following I8 not the

' (A} Management By Objectives operative function of HRM 7

(A) Development
(B) Controlling
(C} Compensation
(D) Integration

(B) Multiple Business Organisation
(G}  Management By Organisation
(D) Multiplicity of Business Operations

& 108. Market sub-divided on the basis of
1 tas 112. Demand has the following elemeant

behavioural characteristics is called

(A) Quantity
(A) Segmentation (B) Price
(B) Aggregation (C) Time
(C) Process (D) Allof the above

(D} None of the above
113.  Theconcept of consumer surplus was

109,  What is mass marketing ? introduced and developed by
(A) Offering the same products and (A) E.A.G. Robinson
marketing mix to all ﬁn:u"rﬁumers (B) J.M. Keynes
(B} Offering variety of products to the (C} Lionel Robbins

entire markel (O} Alired Marshall

(C) O#ering differentiated products o 114,
all customers

A product line strategy where in a
company adds a higher pricad

g (D) Following concentrated marketing product lo aline in order 1o attract a
strategy broader market which helps the sale
of its existing lower priced products
110. Physical distribution provides is catled
(A} Place utility (A) Trading up
(B) Time utility {(B] Trading down
(C) Place and timeg utility (C) Life cycle extension
(D) Form utility (D) Product line extension
Ax 24-

L
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107.

108.

108,

110.

A

o

(A) Tz ATS ST

(B) W e st

(C) Aoz AT TffTEEEe

(D) T o R s

=i FETTsl  AE T T
T e 2

(A) TETSIHI
) T

(C) A

(D) Fuf i T

=7 - T A e 2

(A) T T S e S geTTe
ERUERECLIECT

(B) AT i el o S T

(C) wvii it 1 s ZEE

(DY Tt T AT S

i Formoo qEm A B
(A) TR I

(B) EE I

(C) TR S e I
(D) =9-Frgm 3w

111.

T

143

114,
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Fm i A EeE T, JR. T . T

FraE AR e

(a) Tewm (B) P
(C) i (D) TR
gnF fmamd .
(A) HE= (B) =M

(C) 5T (D) FEEsd
i AT o H S S
3w

(A) 3.7, . T

®) W AW

(C) Tasdve e

(D) HFHE A

Srg Feate fwa dvee % Sein
TR =t s wEr 3 Tor WE Al
2 faud seF F9 THE HiEE 3R

f1 foft 3 T A1 8, SR FEAT
(A) FeH s (215N W)

(B) sveiTTd) A (T =)
(C) T T e

(D) e T e




115, The Purpose of jop evaluafion ig
(A)  Fixation of responsibility
(B)  Pramotion
(C) Wage determination
(D) Transfer i9 2 better joh

116, Under which methad of terformance
appraisal one person ig compared
with all others far the purpose of
Placing them in d Simple ordar of
wark 7

(B} Persontg Person comparison
{C) Ra nking
(D) None of the: above

117, Right shares anjoy preferential rights

with regard 1o

(A} payment of dividend

(B} payment of 'elained eamnings
(€) repayment of eapital

(O} nona of the abave

118. The Industris| Disputes Act, 1947

provides tha following Industria
relations machinery for resplution of
conflicts except

(A) Congciliation

(B)  Arbitration

(C) Nepotiation

(D) Adjudication

-28-

118,

120.

121,

122

JDD-19/PGT-COMM/X-14
li#

SEB! ig

(A) Regulatory Authority
(B). Statutory Authority
(C) Both (a) and (B)

(D) None of thasa

The Warld Bank s known J;’E
(A) IMF

(B8] IDA

(C) IFC

(D) 1BRD

A perfectly competitive firm attainsg

equilibrium when

(A} AC - AR
(B) MR=Mc
(G} MC=ac
(D) Tc=TR

Idle Capacity of a plam is the

difference betwean

(A} Maximum Capacily and practiea|
capacity

(B) Practical capacity and normal
Capacity

{C) Practical Capacity and Capacity
based on gales expeciancy

(D) Maximum Capacity and aptya|
capacity
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115, = e w1 TR 2
(A) T i s
(B) TR
(c) g Fafe
(D) HEatFW % Torg wrmmE

! 116, Tom Fomm et vl d avra

Syofy # v w0 & Tory v sufea
Al Wit SAfEaa) | qee = 8 7
(A) HTiERT

(8) = & ==aa go

(c) i T

(D) T A

IﬁEW-ﬁHi‘ﬁﬁ sy A #
A

(A) EETEE SEH

(B) i Tt =g A

(C) HEraA TR

(D) = E

e ram fm, e e %
T 3 fom fre e e Wl
e A B, o

117.

118.

As

119.

120.

121.

122,
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ua, € #f, 96§

(A) T i
(B) Tt fier Wi
(C) (A) Hw(B)ER
(D) T B HE AR

A dE E AR T

(A} 3T UHTT

B @iy

(C) =I5 o Hi

(D) A

il et M Eeeer A A 8
(A} AC=AR
(B) MR=MC
(C)
()

MC = AC
TC=TR

etz Fafears ey BT & 3 30

(A) SR s ST SR A

(B) =TI & S HTI &

() =T e o fer o e
wr Faifa &

(D) ST SHAT A AT A faal
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123.

124.

125.

126.

A

Keller Cop. sells a single product for
¥ 28 per unit. If variable costs are 65%
of sales and fixed costs total T 9,800,
the braak-even point will be

(A} 15.077 units
(B) 18.200 units
{C) 539 units
(D} 1,000 units

Direct material cost plus direct labour
cost is called

(A) Prime cost
(B) Conversion cost
(C)} Product cost
(D) All of these

Process cost is vary much applicable in
(A) Construction industry

(B) Pharmaceutical industry

(C)} Airline company

(D) None of these

Provision for bad debt is made as per
the

(A) Entity concept

(B) Conservatism concept
(C) Costconcept

(D) Going concerm concept

127.

128.

129,

130.

JDD-19/PGT-COMM/X-14
¢

In & mixed economy which sector(s)
is/are found 7

(A) private only

(B} public sector only
(C) none

(D) both (A) and (B)

is known as father of
Economics.
(A) Adam Smith
(B) Professor A. Samuelson
(C) Alfred Marshall
(D) J: A. Hicks

FERA has been replaced by
(A) FINA
(B) FEMA
(C) FENA
(D) MRTP

RBI was nationalised in
(A} June 1947

(B) January 1949

(C) March 1954

(D} April 1936
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123.

124.

126.

A

S ] ST U 3E f 28 T
M AT ¢ ATy v
#165% 2, 3 Fifvers @ora 20,800, 2
T 30 39 q152 BT

(A} 15.0775%TE

(B) 18:200 %%

(C) 5397

(D) 1,0005FT

Wraet G w309 T S T,
R A F FRA L

G I G L

(B) ST F

(C) JFr9IEd |0

(D) T

125. Wl oA 399 90 W08 § AV E

(A) Frufon sem
(B) ey 3Em
(C) EATE =T
(D) 7H & =g e

T T S N T S e
(A) AfEE HFeT

(B) EfgarEaFew

(C) T T

(D) Wl FRER FEea

127,

128,

128,

130.
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wifter a3 e § F/E G R/
THE 7

(A) F=F T

(B) e FRH

(C) =wriwf

(D) (A)3fR(B)Zwi

o) sefame o frame T

e |

(A) 3TzH ey

(B) W11, HegarwEd
(C) ¥ehsAEE
(D) 1. W o

TF 3 30 U (FERA) =1 368 7Eell M1 8
(A} T 278 T T (FINA)

(B} TEIUAT(FEMA)

(C) TFEITIT(FENA)

(D) ™ HE AT (MATP)

SR 378 (RBI) 1 T g
(A) T 1947

(B) =il 1949

(C) w1954

(D) #4= 1936



131,

132

133,

134,

e

Taylor put forward the idea of
(A)  Purposeful foremanship
(B)
IC)

i)

Maotivational foremanship
Functional foremanship

Social foremanship

Free rein leadership is also known as
(A) Democratic

(B)
(C)

(D) Bureaucratic

Autocratic

Laissez-faire

Accordingto employeas
love work as play or rest.

(Al X Theory
(B) Y Theory
(C) Z Theory
(B} MNone of these

Who proposed ‘“bureaucratic
structure” |s suitable for all
organization ?

(A) Elton Mayo

{B) Henry Fayol

(C) F.W. Taylor

(D}  Max Weber

13E.

136.

137.

138.

JDD-19/PGT-COMM/X-14 |

9.
The SWOT approach assesses on
organization's
(A} Speed, Wants, Order, Timing
(B} Structure, Workforce, Organization,
Types
Strengths, Weaknesses,
Opportunities, Threats
Signs, Worries, Objectives,
Techniques

(C)

0

A is the combining of two
Of more companies into one
organization,

(AY Merger
(B) Acquisition
(C) Diversification

(D) Nene of the given options

Expectancy theary is an example of a
(A} Process Theory

{B) Goal-Setting Theory

(C) MNeeds Theory

(D) Cognitive Evaluation Theory

Which step in Maslow's Hierarchy of
Needs Theory deals with achisving
one's potential ?

(A) Self-actualization

(B) Safety

{C} Esteem

(D) Physiological
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140,

141.

142,

-1

The Negotiable Instruments Act | 1881
came into force on

(A) 9" December 1881

{B) 19" December 1881

{C) 1% March 1882

(D) None of the above

A Bill of Exchange contains a/an
(A} unconditional undertaking
(B) unconditional order

(C) conditional undertaking
(D) conditional order

The liability of & minor partner is
limited to the extent of

(A) His share in the firm

(B) His personal assets

(C) His share in the firm as well as his
parsonal assets

(D) He is not liable

The maximum number of persons
permissible for a valid parinership for
doing banking business is

(&) 2

(B) 10

(C) 15

(D) 20

143,

144,

145.

JDD19/PGT-COMM/X-14
W,

=

An auction sale is complete on the
(A) Delivery of goods

(B) Payment of price

(C} Fall of hammer

(D) None of the above

A sharae certilicate is a
(A) Document of title to goods
(B} Bill of Exchange
(C) Document showing title to goods

(D) Instrument of Transfer

What is the correct sequence of the
following actions required for the
preparation of financial accounts ?

1. Trading Account
2. Making Adjusting Entries
3. Balance Shest
4. Profit and Loss Alc
Select the correct answer from the
codes given below -
Codes :
(A) 4,213
(B} 2.4,31
C) 2.1,4,3
() 4,231
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146,  Which concept of marketing is based 150,

on the assumption that superior
products sefl themselves 7

(A} Production
(B) Marketing
(C) Societal
(D) Product

147, MNon-store marketing includes 151

(A)  Home selling

(B) V.P.P

(C) Vending machines
(O} Al of the above

148. Which one of the following Is an
obstacle to globalisation 7

(A) Wide base

(B] Niche markets
(C] Obsolescence
(D) Competition

149, The Commercial Banks do not
perform one function out of the

following 153,

(A) Mobilisation of Savings

(B} Giving Loans and Advances
(C} Issuing Currency Notes

(D} Financing Priority Sectors

Bw 3=

162.

JDD-19/PGT-COMM/X-1

b

Which of the fallowing is not a capital
asset undar capital gains head of
Income 7

{A) Stock in trade

(B} Goodwill of business

(C) Agricultural tand Irlt Dalhi
(D) Jewellery

The Elasticity of demand for luxury

goods is

{A) Infinite

{B) Moare than one
(C) Lessthan one
{D) Egqual to one

Frofils are maximised at a point
where

(A) MR=MC

(B) MR=MC

(C) MR=MC

(D) AC=MC

Rebate on bills discounted is

{A) Anitem of income

(B} A liability

(C} Income received in advance

(D) MNone of the above
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(D) AC>MC :
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155.

156.
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154, Balance of Paymerit can be mada

157.

favourabie if
(A) Exports are increased
(B} Imports are increased
(C} Devaluation of money

(D} (A) and (C) both

Which one is not an important
objective of Financial Management 7
{(A)  Profit maximisation
(B) Wealth maximisation
(C)  Value maximisation

(D) Maximisation of social benafits

Income Tax is a
(A)
(B)
c)
()

Direct Tax
Indirect Tax
Cost

All of these

Which is nota Four Ps of marketing 7
(A) Plan
(B)
(C)

(D)

Product
Price

Promaotion

158.

159.

181,
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MNAV is related to
(A)
(B)

(C) Fixed Deposit
(D)

Insurance

Mutual Funds

Income Tax

International business involves |
(A)

(B)
()

Exporting

Production
Training

(D) Packing

Owner's capital includes
(A)
(B)
(C)
(D)

Cash
Equity share
Stock
Bank

A sample is the selection of a part of
the

Data

Report

Universe

(A)

(B)
()
(B)

Editing
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(A} Cost— profit (i} anew class of equity shares
L (B) Total Revenue — 1otal cost (i} issued to the employees and
directors
(C) Price —sales Yo .
(i) issued out of the class of equity
: (D) All of these shares already issued bydhe
ﬂ' . il _ ; company
i 163, Whichis/are method of calculation of (v} issued to the Investors i
"1 purchase price 7 (A) (i) and {iii)
E (A) FIFO Method (B) (i) and (Iv)
(B) LIFO Method (C) (1 and (lif)
(D) (i) and ()

(C) Met Assets Method

167, Speculator is a person
(A) Who evaluates the performance of

164. VAT stands for the company
(B} Who uses his own funds only
{C) Who is willing 1o take high risk for
high retum y
(C) Vatue At Tax (D) Who considers heresays and

‘ (D) None of these market behaviours

(D} Al of these

(A) Value Added Tax

(B) Value Addition Tax

168. In nt madle on a house
185, Zero coupon bonds has its origin in Investme a proparty

isa
{A] u.s. EEI:LLr'lt'_I.F Market {Iﬁ.} F"h’lﬂﬂdﬂ‘ investment
(BY Wall Streat (B} Economic investmant
(C) Japan's Security Markel (©) Non-negotiable financial
investment

(D) Dalal Street =ik
(D) Mon-financial invesiment







169. Which one of the following is not a

170.

171,

172

maoney market security 7
(A)
(B)
(C)
(D)

Treasury Bills

Mational Savings Cerfificate
Certificate of Deposit
Commercial Paper

The underwriter has to take up

(&) The fixed portion of the issue
capital

The agreed portion of the
unsubscribed part

(B)

(C) The agreed pertion or can
refuse it

(D) None of the above

The open ended scheme are
(A)
(B)
(C)
(D]

open fora particular period
have fixed period of maturity
listed in the stock exchanges

open on a continuous basis

Primary and secondary markets
(A} compete with each other
(B) complement each other

(C} function indepandently

(D) control each other

173

174,

175.

176.

JDD-19/PGT-COMM/X-14
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Compulsary delisting is due to
[A)
(B)
(C)
(D)

Some money is distributed between
A and B in the ratio 2 : 3. If A
receives¥ 72 , then B receives

(A)y T 90

(B) ¥ 144

(C}y %108

(D) MNone of these

O
[E "3 ] [E}‘"s:-]
(A) 2:38
(B} &:2

c) 631
Dy 1:5

violation of listing agreemeant
capltal size is small

merger
thin trading

A andd B decides tomeetat 203 p.m.,
but agreas that they would not wait
more than 10 minutes for each other.
The probability that they actually
meel is

(&) 10/36

(B) 11/36

(C) 25/38

(D) 26/36
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